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SC(Y T he bO | l |n9 and Celsius Fahrenheit

Water boils  100°C—- 212°F Water boils

freezing temperatures
. 80°C+ 1 1700p

of water on Celsius and ol
on Fahrenheit. et
igg: ~112°F

30°C—+ 9%

20°C- ~72°F

10°C-+ ~+-52°F

Water freezes 0°C— —32°F Water freezes




What's an integer? 4 2 =

N\ N\

O 1s neither positive
nor negative




numbers before O numbers after O

Negative integers




1
e i -
-5-4-3-2-1 01 2 3 4 5 6
—

-3 and 3 are opposite integers.




4 units : 4 units
to left : lo right

Yy Yy,

5 "4 "3 "2 "1 0 *1 *2 *3 *4 *5

-4 and 4 are opposite integers.



12

- 3.3

- 10

a

What are the opposite integers of
these numbers?

T

2



Let's compare
positive integers.

5~ 3 - () @ amsnl.

from left to right,
the smallest .....the greatest

6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6



Let's compare
negative integers.

6 <-3 - -1 pricedite i A

from left to right,
the smallest .....the greatest

-6 -5 -4 -3 -2 -1 o 1 2 3 4 5 6









